N = 0l & At & M A

20138 & =04t St=S AL EESIAH A Al
2AM: Gt
B slas 22
CH9l: BT AR (Bl C ALY SE ) CER-ED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
o == 1t 14,300,000 13,677,943 622,057
< 420,000
Al 13,880,000
ot=% 2tel 14,120,000 13,497,943 622,057
< 420,000
Al 13,700,000
St=S At (St T ALLSE3IA) 14,120,000 13,497,943 622,057
< 420,000
Al 13,700,000
St=XelAld 29 12,760,600 10,336,443 2,424,157
= 420,000
Al 12,340,600
101 1A bl 1,898 2,313 A415
04 JIZHHZ2XNHESE S+ 1,898 2,313 A415
O AR B3ot=HelAld M=&g o82d 1,898
201 L2l 1,714,350 1,714,350 0
02 23224l 1,714,350 1,714,350 0
O dt=Xel& dIIe3 1,208,885
O MSHEZE HIIRR=a 214,320
O H2sHEBZY M3 118,440
O s2tEsd dJIes 5,196
O lsEgsd dJIes 38,770
O IdSHEZHE IS 4,968
O HESHEZH I3 1,320
O JAEsAHEDE MIIRS 1,716
O SESAHEHDE MIR2S 516
O HIWAEBSHEEY IR 3,912
O Oigdt=& dIIR3 (A0IZSHEZE IE) 35,520
OZSHELE L DiSdtx=E SAAEE 3z 12,600
O dt=XMeld Jdlel AEHA == 270
O ot=HMel& SO0IAE HIHA =2 456
O dt+Held B2 (ds,2d)ZA =22 580
O MesHEZZE M)t 2e =2 10,920
O lESHEZY MI|HMd2E =2 2,160
O ot=XelZAadtdl dHBH =2 2,000
O 0EgSd &)L EIIEAM ==& 500
O dt=XMelAd =82 Xl 8,000
O dt=Held 3524 == 7,200
O dt+Held g2 2 (2585) 1,100
O dt=Held dFH=2H 7,800
O dt=HeldE =ZEMSEEZAMN =2 3,000
O dt=XelZ dHsd 24 =2 12,000




2N
X ZH -
L= B

el

SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O 472 36t=Held 4K HL4 11,201
-s22 2 6MA 11,201
O ot=xeld Agdy & . 13l 1,000
202 044l 41,680 43,880 N 2,200
01 2LH O HI 41,680 43,880 N 2,200
O ARAEEZ20xE 2d 22 =& 0| 2,880
O EANLdES2I2HLHES 1,440
O s3ot=xeld H&E0l 6,000
O Z2UHEs&EAH 31,360
206 M = Hl 93,600 90,000 3,600
01 X2 bl 93,600 90,000 3,600
O dt=xecl& HEes 2 93,600
307 212t0| & 10,322,682 8,225,500 2,097,182
o= 420,000
Al 9,902,682
05 QIZtR E S 10,322,682 8,225,500 2,097,182
O Mot2sdatEdel & (5IHHel &) a2 E
= 4,101,133
& 420,000
Al 3,681,133
O dt=Xel& &4 X Heldl 3,528,773
O ot+=xeld o2t e=z 2,692,776
401 AIEHIL 200 575,640 131,000 444 640
01 A& Hl 572,640 130,000 442,640
O ot=xeld 258 8X3At 60,000
O 472 B26t=Meld FA2ZAAIAE (TM/T
)= 120,000
O s3ot+ZLXeAd A2 L JIEe72Ex2
S Al 50,000
O 220X E AMESZ J=dHEz2d 10,000
O Mot2s%ct=Xel& I8 | 332,640
03 A& 20HHI 3,000 1,000 2,000
O AE20HI 3,000
405 XHo&HF SHI 10,750 93,000 N 82,250
01 JHAHY 2 Z 5 S H 10,750 93,000 N B82,250
O deAs) 7Y 1,900
O BEH F2¢ 1,850
O UXNEsod ¢ 7,000
ot QIR Xl 1,293,000 1,794,500 A501,500
401 AIEHIL 20| 1,293,000 1,794,500 A501,500
01 A& Hl 1,290,000 1,790,000 A 500,000
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© ot==1t
P HRES (G
D MHRES (SIS ML SEIA)

SN P SA(EN) - MBAY - BES

=
i

2

RES(5t+1) 180,000 180,000
HRas(ct=SAMdSEIAH) 180,000 180,000
HWRANKE (Gt AIE S L3I H) 180,000 180,000
701 JIEtSIHE &3 180,000 180,000
01 JIEtI HE ES 180,000 180,000
O o= A8 A3 (423018 S
3l3) 45,000, 000%4= | 180,000




